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FE bR IR A T JTXLD m3 1.0
HEHID A%FRE BHO. 13m3
I ERCR- m3 0.03
%L T
W=1.4m
EZE T BRI EE T 2 22 (13) t=bHcm m2 72.0
W<1.4m
EZE T BRI EE T 2 22 (13) t=bHcm m2 10.0
FE AT AL
+#&>. BHO. 28m3
AT DT4t#EHf 1=6. 8km m3 1.0
+&>. BHO. 13m3
e ALE T DT2tiE ) 1=6. 8km m3 0.03
As77 <. BHO. 28m3
AT DT4t#EH 1=6. 8km m3 3.0
As77 <. BHO. 13m3
AT DT4t#EH 1=6. 8km m3 0.3
W5y B +-#b m3 1.0
m3 3.0
ALy TAT 7V bk t 8.0

22




BERER

# H HAL

6. =D
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BEAKELT




T TEHEHE

5 H HAT R &
Bk | EOKE | BlKE | EOKE e
& 150 ¢ 100 ¢ 75 650 | HERE | Rk | bkt B . 2
4 T s f °
[ 2]
e A R
PR HI A A T BHO0.28m3, 1-#» 132.93 2.69 119.76 71.74 10.28 13.04 5.12 m3 355.56 360
e A R
BEPRIE I FEHA T BHO0.13m3, +#) 27.64 m3 27.64 28
e A5
BEPRIE I FEHA T BH0.08m3, +#) 34.95 m3 34.95 35
e AR
FAB s AR T BHO0.28m3,4 Ab, 4N 89.52 2.24 82.22 47.63 6.83 10.79 4.15 m3 243.38 240
e A 5
PR A% AR T BHO0.13m3,% Ak~ 18.50 m3 18.50 19
e A 5
PR A% AR T BH0.08m3,% Ak, 5/~ 23.21 m3 23.21 23
AShR 54—
AR O T t=15cmET 598.80 6.80 595.80 731.60 56.20 38.10 18.00 m 2045.30 2050
ASEHHERR He o A5 R
PUgELURHA T BHO0.28m3,t=10cmlA T 179.64 2.04 178.74 117.60 16.86 11.15 5.00 m2 511.03 510
ASEHHERR He o A5 R
U LURGA T BHO.13m3,t=10cmSL T 44.58 m2 44.58 45
ASEHHERR Het A5 R
BUgELUAEA T BH0.08m3,t=10cmPL T 57.30 m2 57.30 57
VN AR 2N R
TERET FERAA (RC-40),t=10cm 179.64 2.04 178.74 219.48 16.86 11.15 5.00 m2 612.91 613
VN AR 2 R
gk T B (RM=30),t=12cm 179.64 2.04 178.74 219.48 16.86 11.15 5.00 m2 612.91 613
IR V2NN RPN R
S FAEBSRIEET A3V ,t=3cm 179.64 2.04 178.74 219.48 16.86 11.15 5.00 m2 612.91 613
DT4t#4,BH0.28m3
FAE R +-#) L.=6.8km 132.93 2.69 119.76 71.74 10.28 13.04 5.12 m3 355.56 360
DT2t#4,BH0.13m3
64 IR +# 1.=6.8km 27.64 m3 27.64 28
DT2t#4,BH0.08m3
6 IR +# 1.=6.8km 34.95 m3 34.95 35
DT4t#4,BH0.28m3
FAE R T A77Mhik L=6.8km 8.98 0.10 8.94 5.88 0.84 0.55 0.26 m3 25.55 26
DT2t#4,BH0.13m3
64 IR T A77)Vhik 1.=6.8km 2.23 m3 2.23 2




T TEHEHE

I A SAT B
BlKE | EOKE | BKE | BlKE s
¢ 150 $ 100 75 ¢ 50 | BERE - LI ARWK LT bk +T =1 - B
AN y ’ﬁf. & @
VI FEtR <= 2
DT2t#4,BH0.08m3

FAE R T A77Mhik L=6.8km 2.87 m3 2.87 3
Wy E + 132.93 2.69 119.76 134.33 10.28 13.04 5.12 m3 418.15 420
8.98 0.10 8.94 10.98 0.84 0.55 0.26 m3 30.65 31
Wy E T AT 7V 21.26 0.24 21.15 25.98 2.00 1.30 0.62 t 72.55 73




BEAK ¢ 150 - TEEFHE

5 H HAT R &
e
+T-1 HL 2 i
I IR I fir %
iEAs
HH
[ 2]
e A R
PR FEA T BHO0.28m3, +#) 132.93 m3 132.93 130
e A R
FE A% AR T BHO.28m3,% &b, 20 89.52 m3 89.52 90
ASHR Ay A—
AR O T t=15cmET 598.80 m 598.80 600
ASEHHERR HEHI AR
BUgELURGA T BHO.28m3,t=10cmSL T 179.64 m2 179.64 180
VN AR 2 R
TR FEREA (RC-40),t=10cm 179.64 m2 179.64 180
VN AR 2 R
FERET B FR A (RM=30),t=12cm 179.64 m2 179.64 180
IR 2NN HEEN: R
IR T FAESRLET 22 t=3cm 179.64 m2 179.64 180
DT4t#4,BH0.28m3
64 IR +7b L.=6.8km 132.93 m3 132.93 130
DT4t#4,BH0.28m3
6 IR 7 A77Vhik L=6.8km 8.98 m3 8.98 9
Wy E i 132.93 m3 132.93 130
8.98 m3 8.98 9
W5y # T AT 7V bk 21.26 t 21.26 21




+ T EHEE T W %“;f” e .
+T-1 HPPE ¢ 150 TiiEAs B < >
(BH0.28m3) _ HEH A5 R
ETERL= 2994 BEMIREIRSA T |BHO.28m3, /) 0.60 X 0.74 0.444 m3 132.93
; _ HEHI A5 e
FHLBOH= 061 PRI AL T |BHO.28m3, 54 AR A0 0.60 X 0.54 - 0.025 (Fl&#ekR) 0.299 m3 89.52
<HhHEET >
ASh 54—
SREHD O HREL> SRR T t=15cmET 1.00 X 2 2.000[ m 598.80
0.60 ASHEZER HEH A AR
IELRGAT  [BHO.28m3,t=10cmbl F 0.60 0.600| m2 179.64
ANF BB, #i5E
TEEET AR (RC-40),t=10cm | 0.60 0.600| m2 179.64
0.0, ,0.03 N30 A, BE
0.12 FERET KrARFEE (RM=-30),t=12cm | 0.60 0.600| m2 179.64
, ANF BB, #i5E
0.10 IREHET FRAEERRLEET A7 t=3cm 0.60 0.600| m2 179.64
4
0.61
0.79 DT4tf#,BH0.28m3
0.74 P LIERR R +-# 1.-6.8km 132.930 m3 132.93
DT4tf%,BH0.28m3
0.54 F& A 7 A77)Vhik 1.=6.8km 0.60 X  0.05 0.030| m3 8.98
W5y #e B 132.930 m3 132.93
0.18 i 0.030[ m3 8.98
i , syt T AT MR 0.030 X 2.35 0.071| t 21.26
|
|
|
|
2 3
Bl -0 o+~ 40 X 0.18 = 0.025 m/m




T IIERBIOEE OV ORE

+1T-2 HPPE ¢ 100
) 4% (H1) X [HE
R4 R (L LXH
s PR L) + 450 (H2) 40 (H)
F/L—h 3.40 1.24 1.24 4.22
1.24
&it 3.40 4.22
4.22
MY v H:
e 310
= m
T+ TR L= 3.40 m
L= m (F5fE)




T TIERBLOFEE OV OFEE

+T-1 HPPE ¢ 150
T I
oy i< R BB (L) T4 (H1) X [H] -2 LxH
k0 (H2) k0 (H)
D/L—h 0.15 0.60 0.60 0.09
0.60
n 1.00 0.60 0.60 0.60
0.60
n 21.30 0.60 0.60 12.78
0.60
n 65.00 0.60 0.60 39.00
0.60
n 2.40 0.60 0.60 1.44
0.60
n 71.60 0.60 0.60 42.96
0.60
n 6.20 0.60 0.60 3.72
0.60
n 48.00 0.60 0.60 28.80
0.60
n 3.40 0.60 0.60 2.04
0.60
n 69.73 0.60 0.60 41.84
0.60
n 0.75 0.60 0.68 0.51
0.75
U 0.57 0.75 0.75 0.43
0.75
" 0.59 0.75 0.75 0.44
0.75
" 1.18 0.75 1.00 1.18
1.24
" 0.58 1.24 1.24 0.72
1.24
" 0.64 1.24 1.24 0.79
1.24
" 2.81 1.24 1.24 3.48
1.24
" 0.62 1.24 1.24 0.77
1.24
" 0.64 1.2 0.92 0.59
0.60
" 2.25 0.60 0.60 1.35

0.60

+T-1 HPPE ¢ 150
- HREA
B, D 1 1) Lo R LxH
40 (H2) 40 (H)
Gt 299.41 183.53
, 183.53
NS R, H=
TR 299.41
= m
+ TR L= 299.41 m
L= m (FH5E0E)




BEAE ¢ 100 - TEHE

5 H HAT R &
+T-2 e
B % %
iEAs
HH
[ 2]
e A R
PR FEA T BHO.28m3, -/ 2.69 m3 2.69 3
e A R
PR A% AR T BHO0.28m3,% &b, 41 2.24 m3 2.24 2
ASHR Ay A—
ES R t=15cmET 6.80 m 6.80 7
ASEHHERR HEHI AR
BUgELURGA T BHO.28m3,t=10cmSL T 2.04 m2 2.04 2
VN AR 2 R
TR FEREA (RC-40),t=10cm 2.04 m2 2.04 2
VN AR 2 R
FERET B FR A (RM=30),t=12cm 2.04 m2 2.04 2
IR 2NN HEEN: R
IR T FAE BRI T 23 ,t=3cm 2.04 m2 2.04 2
DT4t#4,BH0.28m3
64 IR +# 1.=6.8km 2.69 m3 2.69 3
DT4t#4,BH0.28m3
6 IR 7 A77Vhik L=6.8km 0.10 m3 0.10 0.1
Wy E i 2.69 m3 2.69 3
0.10 m3 0.10 0.1
W5y # T AT 7V bk 0.24 t 0.24 0.2




+ T EHEE T W %“;f” e .
+T-2 HPPE ¢ 100 TiiEAs B < >
(BH0.28m3) _ HEH A5 R
ETERL= 34 BEMIREIRSA T |BHO.28m3, /) 0.60 X 1.32 0.792 m3 2.69
; _ HEHI A5 e
FHEBOH= 124 PRI AL T |BHO.28m3, 54 AR A0 0.60 X 1.12 - 0.013 (Fli&#ekR) 0.659| m3 2.24
<HhHEET >
ASh 54—
SREHD O HREL> SRR T t=15cmET 1.00 X 2 2.000[ m 6.80
0.60 ASHEZER HEH A AR
IELRGAT  [BHO.28m3,t=10cmbl F 0.60 0.600| m2 2.04
ANF BB, #i5E
TEEET AR (RC-40),t=10cm | 0.60 0.600| m2 2.04
0.0, ,0.03 N30 A, BE
0.12 FERET KrARFEE (RM=-30),t=12cm | 0.60 0.600| m2 2.04
, ANF BB, #i5E
0.10 IREHET FRAEERRLEET A7 t=3cm 0.60 0.600| m2 2.04
4
1.24
1.37 DT4tf#,BH0.28m3
1.32 P LIERR R +-# 1.-6.8km 2.690 m3 2.69
DT4tf%,BH0.28m3
1.12 F& A 7 A77)Vhik 1.=6.8km 0.60 X  0.05 0.030| m3 0.10
sy + 2.690 m3 2.69
0.13 i 0.030[ m3 0.10
i , syt T AT MR 0.030 X 2.35 0.071| t 0.24
|
|
|
|
2 3
BlAEEERR -0+~ 40 X 013 = 0.013 m/m




B ¢ 75 T THHE

5 H HAT R &
+T-3 ="
B % 2 5
iEAs
HH
[ 2]
e A R
PR FEA T BHO0.28m3, +#) 119.76 m3 119.76 120
e A R
FE A% AR T BHO0.28m3,% Ak, 4/~ 82.22 m3 82.22 82
AShE 54—
AR O T t=15cmET 595.80 m 595.80 600
ASEHHERR HEHI AR
BUgELURGA T BHO.28m3,t=10cmSL T 178.74 m2 178.74 179
VN AR 2 R
TR FEREA (RC-40),t=10cm 178.74 m2 178.74 179
VN AR 2 R
FERET B FR A (RM=30),t=12cm 178.74 m2 178.74 179
IR 2NN HEEN: R
IR T FAESRLET 22 t=3cm 178.74 m2 178.74 179
DT4t#4,BH0.28m3
FAE RS +#) L= 6.8km 119.76 m3 119.76 120
DT4t#4,BH0.28m3
6 IR 7 A77Vhik L=6.8km 8.94 m3 8.94 9
Ji% = A 119.76 m3 119.76 120
8.94 m3 8.94 9
W5y # T A7 7MhiEk 21.15 t 21.15 21




+ T EHEE T W %“;f” prares KL R
+T3 HPPE ¢ 75 TiiEAs B < >
(BH0.28m3) _ HEH A5 R
ETERL= 207.9 BEMIREIRSA T |BHO.28m3, /) 0.60 X 0.67 0.402| m3 119.76
; _ HEHI A5 e
FHLBOH= 063 PRI AL T |BHO.28m3, 54 AR A0 0.60 X 0.47 - 0.006 (Foi&#epR) 0.276| m3 82.22
<HhHEET >
ASh 54—
SREHD O HREL> SRR T t=15cmET 1.00 X 2 2.000[ m 595.80
0.60 ASHEZER HEH A AR
IELRGAT  [BHO.28m3,t=10cmbl F 0.60 0.600| m2 178.74
ANF BB, #i5E
TEEET AR (RC-40),t=10cm | 0.60 0.600| m2 178.74
0.0, ,0.03 N30 A, BE
0.12 FERET KrARFEE (RM=-30),t=12cm | 0.60 0.600| m2 178.74
, ANF BB, #i5E
0.10 IREHET FRAEERRLEET A7 t=3cm 0.60 0.600| m2 178.74
4
0.63
0.72 DT4tf#,BH0.28m3
0.67 P LIERR R +-# 1.-6.8km 119.760 m3 119.76
DT4tf%,BH0.28m3
0.47 F& A 7 A77)Vhik 1.=6.8km 0.60 X  0.05 0.030| m3 8.94
W5y #e B 119.760 m3 119.76
0.09 i 0.030[ m3 8.94
i , syt T AT 7N 0.030 X 2.35 0.071| t 21.15
|
|
|
|
2 3
BlAEER -0+~ 4 X 0.09 = 0.006 m/m




B ¢ 50 T THHE

5 H HAT R &
+T-4 +T-4 +T-4 B4
B B B HL = 7
Z‘ % ﬂ%l{kﬂ‘(f BHO0.28m3| BH0.13m3| BH0.08m3 fir ! g
MiEAs | ThiEAs | TiEASs
HH HH HH
[ 2]
e A R
BEPRIE I FEHA T BHO0.28m3, +#) 71.74 m3 71.74 72
e A R
BEPRIE I FEHA T BHO0.13m3, +#) 27.64 m3 27.64 28
e A5
BEPRIE I FEHA T BH0.08m3, +#) 34.95 m3 34.95 35
e AR
FE A AR T BHO0.28m3,% Ak, 47.63 m3 47.63 48
e A 5
FE A AR T BHO0.13m3,% Ak~ 18.50 m3 18.50 19
e A 5
P AR T BH0.08m3,% Ak, 5/~ 23.21 m3 23.21 23
AShR 54—
AR O T t=15cmET 392.00 148.60 191.00 m 731.60 730
ASEHHERR HEHI A
PUgELURHA T BHO.28m3,t=10cmSL T 117.60 m2 117.60 118
ASEHHERR HEHI AR
BUgELURGA T BHO.13m3,t=10cmSL T 44.58 m2 44.58 45
ASEHHERR HEHI AR
BUgEURHA T BH0.08m3,t=10cmSL T 57.30 m2 57.30 57
VN AR 2N R
TERET FERAA (RC-40),t=10cm 117.60 44.58 57.30 m2 219.48 219
VN AR 2 R
gk T B (RM=30),t=12cm 117.60 44.58 57.30 m2 219.48 219
IR V2NN RPN R
S FAEBSRIEET A3V ,t=3cm 117.60 44.58 57.30 m2 219.48 219
DT4t#4,BH0.28m3
FAE R +# L=6.8km 71.74 m3 71.74 72
DT2t#4,BH0.13m3
64 IR +# 1.=6.8km 27.64 m3 27.64 28
DT2t#4,BH0.08m3
6 IR +# 1.=6.8km 34.95 m3 34.95 35
DT4t#4,BH0.28m3
64 IR 7 A77Vhik L=6.8km 5.88 m3 5.88 6




B ¢ 50 T THHE

i H SAT B R
+T-4 +T-4 +T-4 B4
B B B HL = G
IRTRR . . 0.08m3 iz ! %
Z‘ % ﬂ:élfj(ﬂ‘/f BHO0.28m3| BH0.13m3| BH m 2
THiEAs HiEAs iEAs
HH HH HH
DT2t#4,BH0.13m3
6 IR 7277k 1.=6.8km 2.23 m3 2.23 2
DT2t#4,BH0.08m3
FAE R T A77Mhik L=6.8km 2.87 m3 2.87 3
Ji% = THb 71.74 27.64 34.95 m3 134.33 130
5.88 2.23 2.87 m3 10.98 11
Ji% = T AT 7Nk 13.92 5.28 6.78 t 25.98 26




+ T EHEE T W %“;f” e .
+T-4 HPPE ¢ 50 TiiEAs B < IR >
(BH0.28m3) _ HEH A5 R
ETERL= 196.0 HARIBHIROA T |BHO.28m3, LAY 0.60 X 0.61 0.366| m3 71.74
. _ Prrtn At
FHEHI H= 0.60 B AL T [BHO.28m3,4°Ah, 20 0.60 X 0.41 - 0.003 (FA5#ERR) 0.243| m3 47.63
<HhHEET >
ASh 54—
CEHD RS SR T t=15cmET 1.00 X 2 2.000| m 392.00
0.60 ASEIZERR HEHA A
BUELBGAT  |BHO.28m3,t=10cmEL T 0.60 0.600 m2 117.60
YNV SZ0N A |
FRERAET PR (RC-40),t=10cm | 0.60 0.600 m2 117.60
0.0, ,0.03 N30 A, BE
0.1 B AT B (RM-30),t=12¢m | 0.60 0.600 m2 117.60
, YNV SZ0N A |
0.10 (AT P AR T 22y t=3cm 0.60 0.600 m2 117.60
4
0.60
0.66 DT4tf#,BH0.28m3
0.61 F& A +-# 1.-6.8km 71.740 m3 71.74
DT4t#4,BH0.28m3
0.41 F& A 7A77Vhik 1.=6.8km 0.60 X  0.05 0.030] m3 5.88
syt R 71.740 m3 71.74
0.06 : 0.030| m3 5.88
i ' syt TAT7 MR 0.030 X 2.35 0.071| t 13.92
|
|
|
|
2 3
Bl PER: o+ 4 X 0.06 = 0.003 m/m




+ T EHEE T W %“;f” e .
+T-4 HPPE ¢ 50 TiiEAs B P
(BH0.13m3) _ HEH A5 R
ETERL= 743 HARIBHIRGA T |BHO.13m3, LAY 0.60 X 0.62 0.372 m3 27.64
: _ || e AR
FHLEBI H= 061 B AL T [BHO.13m3,4°2b, 20 0.60 X 0.42 - 0.003 (FA5#ERR) 0.249| m3 18.50
<HhHEET >
ASh 54—
SEED>  HEL> SR T t=15cmET 1.00 X 2 2.000| m 148.60
0.60 ASEIZERR HEHA A
BUELBGAT  |BHO.13m3,t=10cmEL T 0.60 0.600 m2 44.58
YNV SZ0N A |
FRERAET PR (RC-40),t=10cm | 0.60 0.600 m2 44.58
0.0, ,0.03 N30 A, BE
0.1 B AT B (RM-30),t=12¢m | 0.60 0.600 m2 44.58
, YNV SZ0N A |
0.10 (AT BURLEET 222, t=3cm 0.60 0.600 m2 44.58
4
0.61
0.67 DT2tf#,BH0.13m3
0.62 F& A +# L= 6.8km 27.640 m3 27.64
DT2t#4,8H0.13m3
0.42 F& A 7A77Vhik 1.=6.8km 0.60 X  0.05 0.030] m3 2.23
syt R 27.640 m3 27.64
0.06 : 0.030| m3 2.23
i , syt TAT7 MR 0.030 X 2.35 0.071| t 5.28
|
|
|
|
2 3
Bl PER: o+ 4 X 0.06 = 0.003 m/m




+ T EHEE T W %“;f” e .
+T-4 HPPE ¢ 50 TiiEAs B < IR >
(BH0.08m3) _ HEH A5 R
ETERL= 955 HARIBHIRGA T |BHO.08m3, LAY 0.60 X 0.61 0.366| m3 34.95
. _ Prrtn At
FHEHI H= 0.60 B AL T [BHO.08m3,4 Ah, 20 0.60 X 0.41 - 0.003 (FA5#ERR) 0.243| m3 23.21
<HhHEET >
ASh 54—
CEHD RS SRR T t=15cmET 1.00 X 2 2.000| m 191.00
0.60 ASEIZERR HEHA A
BUELBGAT  |BHO.08m3,t=10cmEL T 0.60 0.600 m2 57.30
YNV SZ0N A |
FRERAET PR (RC-40),t=10cm | 0.60 0.600 m2 57.30
0.0, ,0.03 N30 A, BE
0.1 B AT B (RM-30),t=12¢m | 0.60 0.600 m2 57.30
, YNV SZ0N A |
0.10 (AT BURLEET 222, t=3cm 0.60 0.600 m2 57.30
4
0.60
0.66 DT2tf#,BH0.08m3
0.61 F& A +-# 1.-6.8km 34.950 m3 34.95
DT2t#4,8H0.08m3
0.41 F& A 7A77Vhik 1.=6.8km 0.60 X  0.05 0.030] m3 2.87
syt R 34.950 m3 34.95
0.06 : 0.030| m3 2.87
i , syt TAT7 M 0.030 X 2.35 0.071| t 6.78
|
|
|
|
2 3
Bl RER: o0+ 4 X 0.06 = 0.003 m/m




T IIERBIOEE OV ORE

+T1T-4 HPPE ¢ 50 (BH0.28m3)
) 0 (H1) X [H -4
% X [ e (L LXH
s PREHEL) 40 (H2) T#Y (H)
C/L—h 1.10 1.03 1.03 1.13
1.03
" 1.04 1.03 0.82 0.85
0.60
" 63.86 0.60 0.60 38.32
0.60
" 6.00 0.60 0.60 3.60
0.60
G/L—h 0.27 0.60 0.60 0.16
0.60
" 0.19 0.60 0.51 0.10
0.41
" 1.86 0.41 0.41 0.76
0.41
" 0.19 0.41 0.51 0.10
0.60
" 1.39 0.60 0.60 0.83
0.60
" 20.30 0.60 0.60 12.18
0.60
" 1.20 0.60 0.60 0.72
0.60
" 0.27 0.60 0.60 0.16
0.60
" 0.19 0.60 0.51 0.10
0.41
" 1.79 0.41 0.41 0.73
0.41
" 1.49 0.41 0.41 0.61
0.41
" 0.19 0.41 0.51 0.10
0.60
" 0.27 0.60 0.60 0.16
0.60
" 1.10 0.60 0.60 0.66

0.60

+ T4 HPPE ¢ 50 (BH0.28m3)
- 40 (H1) FAGERD)
s e X i i e (L) LXH
R £ (12) 0 (1)

Gl—h 17.50 0.60 0.60 10.50
0.60

” 0.27 0.60 0.60 0.16
0.60

” 0.19 0.60 0.51 0.10
0.41

" 0.54 0.41 0.41 0.22
0.41

n 2.62 0.41 0.41 1.07
0.41

" 3.38 0.41 0.41 1.39
0.41

n 2.40 0.41 0.41 0.98
0.41

" 0.27 0.41 0.41 0.11
0.41

” 0.19 0.41 0.51 0.10
0.60

” 11.24 0.60 0.60 6.74
0.60

” 3.50 0.60 0.60 2.10
0.60

” 0.50 0.60 0.60 0.30
0.60

DL—h 1.38 0.79 0.79 1.09
0.79

” 0.19 0.79 0.70 0.13
0.60

” 28.66 0.60 0.60 17.20
0.60

” 0.50 0.60 0.85 0.43
1.10

” 0.27 1.10 1.10 0.30
1.10

” 2.00 1.10 1.10 2.20
1.10




T IIERBIOEE OV ORE

+ T4 HPPE ¢ 50 (BH0.28m3)
) 4% (H1) X [HE
% R (L LXH
s PR L) + 450 (H2) 40 (H)
L—hk 0.27 1.10 1.10 0.30
1.10
n 0.50 1.10 0.85 0.43
0.60
” 16.40 0.60 0.60 9.84
0.60
” 0.19 0.60 0.51 0.10
0.41
N 0.29 0.41 0.41 0.12
0.41
a5t 195.95 117.19
117.19
853 H=
S 195.95
= m
T+ TR L= 195.95 m
L= 196.0 m (G5 MH)

+ T4 HPPE ¢ 50 (BHO0.13m3)
- 40 (H1) FAGERD)
s e a X i i e (L) LXH
R £ (12) 0 (1)

Gl—h 1.91 0.60 0.60 1.15
0.60

” 16.27 0.60 0.60 9.76
0.60

” 4.23 0.60 0.60 2.54
0.60

" 3.97 0.60 0.60 2.38
0.60

" 5.70 0.60 0.60 3.42
0.60

” 2.81 0.60 0.60 1.69
0.60

" 0.19 0.60 0.70 0.13
0.79

” 1.10 0.79 0.79 0.87
0.79

” 0.20 0.79 0.79 0.16
0.79

n 0.19 0.79 0.70 0.13
0.60

" 23.21 0.60 0.60 13.93
0.60

n 1.20 0.60 0.60 0.72
0.60

HL—h 0.21 0.60 0.71 0.15
0.81

1.10 0.81 0.81 0.89
0.81

0.19 0.81 0.71 0.13

0.61




T IIERBIOEE OV ORE

+ T4 HPPE ¢ 50 (BH0.13m3)
) 4% (H1) X [HE
4 R (L LXH
s PRBEAE L) + 450 (H2) 40 (H)
0.56 0.61 0.61 0.34
0.60
1.50 0.60 0.60 0.90
0.60
6.00 0.60 0.60 3.60
0.60
3.80 0.60 0.60 2.28
0.60
a5t 74.34 45.17
45.17
A H= ——"=
S 134
- m
+ TR L= 74.34 m
L= m (FH5)

+ T4 HPPE ¢ 50 (BH0.08m3)
- 4 (H1) I [ -5
s ] EAfE (L LXH
s PERREL) +40 (H2) +4%0 (H) 5
G/L—Fh 49.00 0.60 0.60 29.40
0.60
H—Fk 46.02 0.60 0.60 27.61
0.60
0.19 0.60 0.51 0.10
0.41
0.29 0.41 0.41 0.12
0.41
&t 95.50 57.23
57.23
al /i> H:
NS SRR U, 95,20
= m
+TiEE L= 95.50 m
L= m (FHEE)







T TIERBLOFEE OV OFEE

+T-3 HPPE ¢ 75 (BH0.28m3)
o
oy I R BB (L) +-4k (H1) X [P LxH
30 (112) 30 (1)

AL—] 1.00 0.60 0.60 0.60
0.60

" 0.77 0.60 0.60 0.46
0.60

" 56.43 0.60 0.60 33.86
0.60

" 1.10 0.60 0.60 0.66
0.60

" 0.48 0.60 0.60 0.29
0.60

" 0.60 0.60 0.90 0.54
1.20

" 1.68 1.20 1.20 2.02
1.20

" 0.60 1.20 0.90 0.54
0.60

" 0.48 0.60 0.60 0.29
0.60

" 1.10 0.60 0.60 0.66
0.60

" 37.80 0.60 0.60 22.68
0.60

B/L—Fh 0.45 0.60 0.60 0.27
0.60

U 1.37 0.60 0.60 0.82
0.60

U 50.43 0.60 0.60 30.26
0.60

U 1.21 0.60 0.85 1.03
1.10

U 1.44 1.10 1.10 1.58
1.10

U 0.48 1.10 1.10 0.53
1.10

U 0.43 1.10 1.10 0.47
1.10

+T-3 HPPE ¢ 75 (BH0.28m3)
- 15
B, D 1 1) £ (HL) R LxH
40 (H2) 40 (H)
B/L—h 1.21 L.10 0.85 1.03
0.60
" 44.79 0.60 0.60 26.87
0.60
" 1.04 0.60 0.82 0.85
1.03
" 0.29 1.03 1.03 0.30
1.03
" 2.37 1.03 1.03 2.44
1.03
" 1.04 1.03 0.82 0.85
0.60
" 75.99 0.60 0.60 45.59
0.60
" 0.97 0.60 0.80 0.78
1.00
" 0.43 1.00 1.00 0.43
1.00
" 1.90 1.00 1.00 1.90
1.00
" 6.56 1.00 1.00 6.56
1.00
” 0.48 1.00 1.00 0.48
1.00
” 0.67 1.00 1.00 0.67
1.00
” 0.97 1.00 0.80 0.78
0.60
” 1.32 0.60 0.60 0.79
0.60
Gk 297.88 187.88
187.88
A -5 =
A 297.88
= m
ETHER L= 297.88 m
L= 297.9 m (FHEE)




T IIERBIOEE OV ORE

HERE ¢ 50LL THEIRE)
) 4% (H1) X [HE
4 R (L LXH
s PR L) + 450 (H2) 40 (H)
e 0.60
HERE -1 18.55 0.60 11.13
0.60
. 0.60
-2 3.61 0.60 2.17
HEVRE 0.60
. 0.60
-3 2.25 0.60 1.35
HEVRE 0.60
. 0.60
V-4 1.25 0.60 0.75
HEVRE 0.60
. 0.60
-5 2.40 0.60 1.44
HEVRE 0.60
a5t 28.06 16.84
16.84
MEFA H=
S 55,06
= m
+ TR L= 28.06 m
L= m (FHELE)




BER® ¢ 25 LT 433

5 H HAT R &
e
PEJRE 1 % . g
I IR I fir %
iEAs
HH
[ 2]
e A R
PR FEA T BHO0.28m3, +#) 10.28 m3 10.28 10
e A R
PR A% AR T BHO0.28m3,% &b, 41 6.83 m3 6.83 7
ASHR Ay A—
ES R t=15cmET 56.20 m 56.20 56
ASEHHERR HEHI AR
BUgELURGA T BHO.28m3,t=10cmSL T 16.86 m2 16.86 17
VN AR 2 R
TR FEREA (RC-40),t=10cm 16.86 m2 16.86 17
VN AR 2 R
FERET B FR A (RM=30),t=12cm 16.86 m2 16.86 17
IR 2NN HEEN: R
IR T FAESRLET 22 t=3cm 16.86 m2 16.86 17
DT4t#4,BH0.28m3
64 IR +# 1.=6.8km 10.28 m3 10.28 10
DT4t#4,BH0.28m3
6 IR 7277k 1.=6.8km 0.84 m3 0.84 1
Wy E i 10.28 m3 10.28 10
0.84 m3 0.84 1
W5y # T AT 7V bk 2.00 t 2.00 2




+ T EHEE T @ %“;f” e .
{ﬂ’-*: N .
PEEEL  HIVP ¢ 50LL T TiiEAs B <R
HEHI A% R
ETERL= 281 BEMIREIRSA T |BHO.28m3, /) 0.60 X 0.61 0.366 m3 10.28
; _ HEHI A5 e
FHLBIH= 0.60 PRI AL T |BHO.28m3, 54 AR A0 0.60 X 0.41 - 0.003 (Fl&#eR) 0.243| m3 6.83
<HhHEET >
ASh 54—
SREHD O HREL> SRR T t=15cmET 1.00 X 2 2.000[ m 56.20
0.60 ASHEZER HEH A AR
IELRGAT  [BHO.28m3,t=10cmbl F 0.60 0.600| m2 16.86
ANF BB, #i5E
TEEET AR (RC-40),t=10cm | 0.60 0.600| m2 16.86
0.0, ,0.03 N30 A, BE
0.12 FERET KrARFEE (RM=-30),t=12cm | 0.60 0.600| m2 16.86
, ANF BB, #i5E
0.10 IREHET FRAEERRLEET A7 t=3cm 0.60 0.600| m2 16.86
4
0.60
0.66 DT4tf#,BH0.28m3
0.61 P LIERR R +-# 1.-6.8km 10.280 m3 10.28
DT4tf%,BH0.28m3
0.41 F& A 7 A77)Vhik 1.=6.8km 0.60 X  0.05 0.030| m3 0.84
sy + 10.280 m3 10.28
0.06 i 0.030[ m3 0.84
, i ' syt T AT MR 0.030 X 2.35 0.071| t 2.00
|
|
|
|
2 3
Bl -0 o+~ 4 X 0.06 = 0.003 m/m




R L TR

5 H HAT R &
ARWK L1 ARk 2] AWK+ T3 ARk + T4 Rk itese B
B B B B B H = i
& Tk~ BH0.28m3| BH0.28m3| BH0.28m3| BH0.28m3| BH0.28m3 iz ! g
MiEAs | THiEAs | TiEAs | TiEAs | THiEAs
HH HH HH HH HH
[ 2]
e A R
PR A T BH0.28m3, +-#) 1.82 2.08 2.35 3.50 3.29 m3 13.04 13
e A R
A AR T BH0.28m3,% Ak, 41 1.49 1.71 1.97 2.84 2.78 m3 10.79 11
ASHR Ay A—
ES R t=15cmET 6.10 6.70 6.70 12.20 6.40 m 38.10 38
ASEHHERR HeH A5 R
BUgELURGA T BHO.28m3,t=10cmSL T 1.63 1.87 1.87 3.26 2.52 m2 11.15 11
VN AR 2 R
TlERE T FEREA(RC-40),t=10cm 1.63 1.87 1.87 3.26 2.52 m2 11.15 11
VN AR 2 R
ERAE T B (RM=30),t=12cm 1.63 1.87 1.87 3.26 2.52 m2 11.15 11
IR 2NN HEEN: R
IR T FAESRLET 22 t=3cm 1.63 1.87 1.87 3.26 2.52 m2 11.15 11
DT4t#4,BH0.28m3
AR E R +#) L=6.8km 1.82 2.08 2.35 3.50 3.29 m3 13.04 13
DT4t#4,BH0.28m3
6 IR 7277 VMi% L=6.8km 0.08 0.09 0.09 0.16 0.13 m3 0.55 0.6
Wy E i 1.82 2.08 2.35 3.50 3.29 m3 13.04 13
0.08 0.09 0.09 0.16 0.13 m3 0.55 0.6
Wy E T AT 7k 0.19 0.21 0.21 0.38 0.31 t 1.30 1




RWAKSIET-1 ¢ 150X ¢ 75 (BHO. 28m3) 2 = i @ H
4 FR HiAG <k Hifr| & & i H K
<tT> LEFTY4Y X1
HEHD A R
ik B 1 R SA T BH0.28m3, +-fib m3 1.82 | ( (1.00X<1.00 + 1.05X0.60) XH1.13) = 1/4X0.18X0.18 X 7 X 1.00 = 1.82 1.82
HEHD A SRR
B AR T BH0.28m3,4 b, 40’ m3 1.49 | ( (1.00X<1.00 + 1.05X0.60) XH0.93) - 1/4X0.18X0.18 X 7 X 1.00 = 1.49 1.49
<HHEET >
AshEAy4—
A T t=15cm* T m 6.10 | (1.00 +2.05 )% 2 = 6.10 6.10
ASEREERR P A% SR
HdE URA T BH0.28m3,t=10cmEL m2 1.63 [1.00 < 1.00+0.60 % 1.05 = 1.63 1.63
UNAR 2N TSR Bt
TR AT AR A (RC—40),t=10cm m2 1.63 [1.00 < 1.00+0.60 % 1.05 = 1.63 1.63
YR iR
FEBET Bz A4 (RM=30),t=12cm m2 1.63 [1.00 < 1.00+0.60 % 1.05 = 1.63 1.63
N2 TSI Bt
R T TR E T A9 t=3cm m2 1.63 [1.00 < 1.00+0.60 % 1.05 = 1.63 1.63
DT4t#%,BH0.28m3
R R +# 1.=6.8km m3 1.82 1.82 = 1.82 1.82
DT4t#%,BH0.28m3
A L 7277 Vb 1.=6.8km m3 0.08 1.63 X 0.05 = 0.08 0.08
WLy # b m3 1.82 1.82 1.82 1.82
m3 0.08 = 0.08 0.08
WLy TAT7 M t 0.19 0.08 X 2.35 0.19 0.19




L M =N Porie
AWK 3 T-1 ¢ 150X ¢ 75 (BHO. 28m3) g 5 E S
& B
B-® i &
L1 L2
L1 i L2
2] 8 | , =
= 1]
— 1 S — — — —F— — — 8 &
. R —
= § 2
= I @ @r — % x| & =
3 2
3 o b -
== W
FEAKETFE
55 o e d i h2 Hi H2 H3 h3 Wi L1 L2
FEERKSET-1 | @150x 75 PEPFE 0.18 0. 60 0. 40 1.18 113 0. 93 0.35 1.00 1. 00 1.05
FHikpiET-2 | ¢150% 150 | PEPHA 0.18 0. 60 0. 40 1.18 1.13 0.93 0.3 1.15 1. 00 1.20
THiARSIET-3 | ¢150x 150 | DIPE 0.17 0.75 0. 40 1.32 1.27 1.07 0. 50 1.15 1. 00 1.20
TEiRGIET-4 | ¢ 100x @50 PEPFR 0.13 0. 60 0,40 1.13 1.08 0. 88 0,3 1. 00 1. 00 1.05




RWAKSIET-2 ¢ 150X ¢ 150 (BHO. 28m3) 2 = i @ H
4 FR HIkE -~k Hifr| & & i H K
<tT> LEFTY4Y X1
HEHD A R
A B A 1T BH0.28m3, +-#) m3 2.08 | ( (1.15X1.00 +0.60X1.20) XHI1.13) = 1/4X0.18 X0.18 X = X1.15 = 2.08 = 2.08
HEHD A SRR
PP AL T BH0.28m3,% Ab 4o’ m3 1.71 ] € (1.15X1.00 + 0.60 X 1.20) X H0.93) — 1/4X0.18X0.18 X © X 1.15 = 1.71 = 1.71
<HHEET >
AshEAy4—
ALEGT T t=15cm* T m 6.70 | (1.15 +2.20 ) X2 = 6.70 = 6.70
ASEREERR P A% SR
HUELUEHA T BH0.28m3,t=10cmEL m2 1.87 |1.15X1.00+0.60 X 1.20 = 1.87 = 1.87
UNARPZ2Y oW BT}
B AT P ARG (RC-40),t=10cm m2 1.87 [1.15X1.004+0.60X1.20 = 1.87 = 1.87
NI N HE
BT Bz A4 (RM=30),t=12cm m2 1.87 [1.15X1.0040.60 X 1.20 = 1.87 = 1.87
IR PZY SN R
(REET FEAE BRI FET A9 t=3cm m2 1.87 |1.15X1.00+0.60 X 1.20 = 1.87 = 1.87
DT4t#%,BH0.28m3
F A TR 1) 1.=6.8km m3 2.08 2.08 = 2.08 = 2.08
DT4t#%,BH0.28m3
A L 7277 Vb 1.=6.8km m3 0.09 1.87 X 0.05 = 0.09 = 0.09
WLy # b m3 2.08 2.08 2.08 = 2.08
m3 0.09 = 0.09 = 0.09
WLy 7277 Wik t 0.21 0.09 X 2.35 0.21 = 0.21




REFASSIGET-2 ¢ 150X ¢ 150 (BHO. 28m3) % & i R

2] =
I b
®-® b &
L1 L2
L1 X L2
2l 8 | 8
=1 A F— — — —F— — — =~ =&f g
. — — — —|—=s1 ¢«
= —@ @f_| % =l =
] = b -
L S &
=
= b=
==
FEAETFE
&5 o# wi d h1 h2 H1 H2 H3 h3 Wi L1 L2

FiRGET-1 | @150x 75 | PEPR | 0.18 0.60 | 0.40 1.18 1.13° | 0.93 | 0.3 1.00 100 1.05

FEiRFIRT-2 | ¢150x $150 | PEPA | 0.18 0.60 | 0.40 1.18 1.13 | 0.93 | 0.3 1. 15 1.00 1.20

TEIRFIRT-3 | ¢150x H150 | DIPA | 0.17 0.75 | 0.40 1.32 127 1.07 0.50 | 1.15 1.00 1.20

FHikGIET-4 | ¢100= 50 | PEPA | 0.13 0.60 | 0.40 113 1.08 | 0.88 | 0.3 1.00 1. 00 1.05




RWAKSIET-3 ¢ 150X ¢ 150 (BHO. 28m3) 2 = i @ H
4 FR HIkE -~k Hifr| & & i H K
<tT> LEFTY4Y X1
HEHD A R
A B A 1T BH0.28m3, +-#) m3 2.35 | ( (1.15X1.00 +0.60X 1.20) XH1.27) = 1/4X0.17X0.17X 7 X1.15 = 2.35 = 2.35
HEHD A SRR
PP AL T BH0.28m3,% Ab 4o’ m3 1.97 | ( (1.15X1.00 + 0.60 X 1.20) XH1.07) = 1/4X0.17X0.17X © X 1.15 = 1.97 = 1.97
<HHEET >
AshEAy4—
A T t=15cm* T m 6.70 | (1.15 +2.20 ) X2 = 6.70 = 6.70
ASEREERR P A% SR
HUELUEHA T BH0.28m3,t=10cmEL m2 1.87 |1.15X1.00+0.60 X 1.20 = 1.87 = 1.87
UNARPZ2Y oW BT}
B AT P ARG (RC-40),t=10cm m2 1.87 [1.15X1.004+0.60X1.20 = 1.87 = 1.87
NI N HE
FEBET Bz A4 (RM=30),t=12cm m2 1.87 [1.15X1.0040.60 X 1.20 = 1.87 = 1.87
IR PZY SN R
(REET FEAE BRI FET A9 t=3cm m2 1.87 |1.15X1.00+0.60 X 1.20 = 1.87 = 1.87
DT4t#%,BH0.28m3
R R +# 1.=6.8km m3 2.35 2.35 = 2.35 = 2.35
DT4t#%,BH0.28m3
A L 7277 Vb 1.=6.8km m3 0.09 1.87 X 0.05 = 0.09 = 0.09
WLy # b m3 2.35 2.35 2.35 = 2.35
m3 0.09 = 0.09 = 0.09
WLy 7277 Wik t 0.21 0.09 X 2.35 0.21 = 0.21




REFASSIGET-3 ¢ 150X ¢ 150 (BHO. 28m3) % & i R

2] =
I b
®-® b &
L1 L2
L1 X L2
2l 8 | 8
=1 A F— — — —F— — — =~ =&f g
. — — — —|—=s1 ¢«
= —@ @f_| % =l =
] = b -
L S &
=
= b=
==
FEAETFE
&5 o# wi d h1 h2 H1 H2 H3 h3 Wi L1 L2

FiRGET-1 | @150x 75 | PEPR | 0.18 0.60 | 0.40 1.18 1.13° | 0.93 | 0.3 1.00 100 1.05

FEiRFIRT-2 | ¢150x $150 | PEPA | 0.18 0.60 | 0.40 1.18 1.13 | 0.93 | 0.3 1. 15 1.00 1.20

TEIRFIRT-3 | ¢150x H150 | DIPA | 0.17 0.75 | 0.40 1.32 127 1.07 0.50 | 1.15 1.00 1.20

FHikGIET-4 | ¢100= 50 | PEPA | 0.13 0.60 | 0.40 113 1.08 | 0.88 | 0.3 1.00 1. 00 1.05




RWAKAIE T4 ¢ 100X ¢ 50 (BHO. 28m3) 2 = i @ H
4 FR HiAG <k Hifr| & & i H K
<tT> LEFTY4Y X2
HEHD A R
B HIRDA T BH0.28m3, +-#) m3 3.50 | ( (1.00X1.00 +0.60X1.05) XH1.08) = 1/4X0.13X0.13X 7 X1.00 1.75 3.50
HEHD A SRR
B AR T BH0.28m3,4 b, 40’ m3 2.84 [ ( (1.00X1.00 + 0.60X1.05) X H0.88) — 1/4X0.13X0.13X 7 X1.00 1.42 2.84
<HHEET >
AshEAy4—
A T t=15cm* T m 12.20 | (1.00 +2.05 ) x 2 6.10 12.2
ASEREERR P A% SR
HdE URA T BH0.28m3,t=10cmEL m2 3.26 [1.00X1.00+0.60 X 1.05 1.63 3.26
UNAR 2N TSR Bt
THEEET FEAE A7 (RC—40),t=10cm m2 3.26 [1.00X1.00+0.60 X 1.05 1.63 3.26
YR iR
FEBET Bz A4 (RM=30),t=12cm m2 3.26 [1.00X1.00+0.60 X 1.05 1.63 3.26
N2 TSI Bt
AT FAERLE T 23 t=3cm m?2 3.26 |1.00X1.00+0.60X1.05 1.63 3.26
DT4t#%,BH0.28m3
A L TEW R +# 1L.=6.8km m3 3.50 1.75 1.75 3.50
DT4t#%,BH0.28m3
A L E 7277 Vb 1.=6.8km m3 0.16 1.63 X 0.05 0.08 0.16
WLy # b m3 3.50 1.75 1.75 3.50
m3 0.16 0.08 0.16
WLy T A7 7 bk t 0.38 0.08 X 2.35 0.19 0.38




e, =R A
¢ 100X ¢ 50 (BHO. 28m3) ¥ B =
s B
®-® B &
L1 L2
L1 . L2
sk 8 | ; =
—T AT  — — —+— — — =l g
i —— —— — —|— =t
= . = E
=] 2
= —@ @f_| % =l =
] - b -
& 3
=
= b=
-
FEAETTE
&5 aE i d hl h2 H1 H2 H3 h3 Wi L1 L2
FiRGET-1 | @150x 75 | PEPR | 0.18 0.60 | 0.40 1.18 113 | 0.93 0.35 1.00 100 1.05
FEiRFIRT-2 | ¢150x $150 | PEPA | 0.18 0.60 | 0.40 1.18 1.13 0.93 0. 35 1. 15 1.00 1.20
TEIRFIRT-3 | ¢150x H150 | DIPA | 0.17 0.75 | 0.40 1.32 127 1.07 0. 50 1.15 1.00 1.20
FHiKGIEI-4 | 0100xH50 | PEPAR | 0.13 0.60 | 0.40 113 1.08 0.88 0. 35 1.00 1. 00 1.05




R K577 T DIP ¢ 150mm (BHO. 28m3) % & i @ =H
E i) HiAG <k Hifr| & & i H K
<tT> LEFTY4Y X1
HEHD A R
B 1 RA T BH0.28m3, +-fib m3 3.29 | 1.40X1.80XH1.32 - 1/4X0.17X0.17X & X 1.80 = 3.29 = 3.29
HEHD A SRR
B AR T BHO0.28m3,4 Ap, 70’ m3 2.78 [1.40X1.80 X H1.12 = 1/4X0.17X0.17 X 7 X 1.80 = 2.78 = 2.78
<HHEET >
AshEAy4—
(RSl t=15cmE T m 6.40 | ( 1.40 + 1.80 )X 2 = 6.40 = 6.40
ASEREERR P A% SR
HUELUEHA T BH0.28m3,t=10cmEL m2 2.52 [1.40 X 1.80 = 2,52 = 2.52
UNAR 2N TSR Bt
TREEET B EREA (RC-40),t=10cm m2 2.52 [1.40 X 1.80 = 2.52 = 2.52
UNAR 2N TSR Bt
FE A T B4 (RM=30),t=12¢m m2 2.52 [1.40 X 1.80 = 2.52 = 2.52
N2 TSI Bt
(REET FEAE BRI FET A9 t=3cm m2 2.52 [1.40 X 1.80 = 252 = 2.52
DT4t#%,BH0.28m3
F A TR /) L=6.8km m3 3.29 3.29 = 3.29 = 3.29
DT4t#%,BH0.28m3
A L E 7277V 1=6.8km m3 0.13 2.52 X 0.05 = 0.13 = 0.13
WLy # b m3 3.29 3.29 3.29 = 3.29
m3 0.13 = 0.13 = 0.13
WLy T A7 7 MR t 0.31 0.13 X 2.35 0.31 = 0.31




KAk T DIP ¢ 150mm  (BHO. 28m3) vy 5 Z L =

S
B om X
FmEEAE - _
BN i HlBERL
1800 [
1400
TREE(EENART R-30)
AsiEE TEERE (BAHTyvr-3v RCA0)
’_ RN :
] =l 2
By By By BT B =
O e N
=
8 b } %‘{@}3 |l ] 8 BEL £k &
® St el o e | e
PEP ¢ 150 b o @
DIP ¢ 150 - f_:
g g

TEIREDNF 150 |

DIP 150




1bK T THEFR

5 H HAT R &
IEAKRET A AR T2) 1hAK T3 e
B B B % 2 5
& Tk~ BH0.28m3| BH0.28m3| BH0.28m3 fir g
MiEAs | ThiEAs | TiEASs
HH HH HH
[ 2]
e A R
PR A T BH0.28m3, +-#) 1.93 1.85 1.34 m3 5.12 5
e A R
FE A% AR T BHO0.28m3,% Ak, 4/~ 1.66 1.55 0.94 m3 4.15 4
ASHR Ay A—
ES R t=15cmE T 5.00 5.00 8.00 m 18.00 18
ASEHHERR HEHI AR
BUgELURGA T BH0.28m3,t=10cmPL T 1.50 1.50 2.00 m2 5.00 5
NI BNEEE
TlERE T FEREA(RC-40),t=10cm 1.50 1.50 2.00 m2 5.00 5
NI BNEEE
FERET iz A (RM=30),t=12cm 1.50 1.50 2.00 m2 5.00 5
UNR P2N S S|
IR T FAE BRI T 23 ,t=3cm 1.50 1.50 2.00 m2 5.00 5
DT4t#4,BH0.28m3
AR E R +#) L=6.8km 1.93 1.85 1.34 m3 5.12 5
DT4t#4,BH0.28m3
6 IR 7 A7 7Nk 1.=6.8km 0.08 0.08 0.10 m3 0.26 0.3
Wy E i 1.93 1.85 1.34 m3 5.12 5
0.08 0.08 0.10 m3 0.26 0.3
Wy E T AT 7k 0.19 0.19 0.24 t 0.62 1




1EA+T-1 ¢ 150mm (BHO. 28m3) o &= i A
E i) HiAG <k Hifr| & & i H K
<tI> 1T&FT X1
e 250 5
A B A 1T BH0.28m3, +-#) m3 1.93 | 1.50 X 1.00 X H1.32 = 1/4X0.17 X 0.17 X 7 X (1.50+0.70) = 1.93 1.93
e 250 5
B AR T BHO0.28m3,4 Ap, 70’ m3 1.66 |1.50X1.00XH1.12 - 1/4X0.17X0.17 X 7 X(0.50+0.50) = 1.66 1.66
<HHEET >
AshEAy4—
EEEG W T t=15cm%E T m 5.00 | (1.50 + 1.00 )X 2 = 5.00 5.00
ASEREERR P A% SR
BUELAGA T BHO0.28m3,t=10cmLL m2 1.50 [1.50 X 1.00 = 1.50 1.50
YN PZN i S|
TREEET B EREA (RC-40),t=10cm m2 1.50 [1.50 X 1.00 = 1.50 1.50
YN PZN i S|
L AR T bi A (RM-30),t=12cm m2 1.50 |1.50 X 1.00 = 1.50 1.50
YN P2 i Bic|
GRS T T AR ET A2 t=3cm m2 1.50 [1.50 X 1.00 = 1.50 1.50
DT4t#%,BH0.28m3
FEAE L IER +4 1.-6.8km m3 1.93 1.93 = 1.93 1.93
DT4t#%,BH0.28m3
A - E R TAT7 VM L=6.8km m3 0.08 1.50 X 0.05 = 0.08 0.08
Wy +w m3 1.93 1.93 1.93 1.93
m3 0.08 = 0.08 0.08
bRk = T AT 7Nk t 0.19 0.08 X 2.35 0.19 0.19




1Ak +T-1 o B =1 G
S
WK ET-1
aEAs
T EE
1000 & HIERL
=] T =B (BEEEHEAs)
1000 B (BERERT RI-30)

1500

.]
g
TIT

HPPE ¢ 150

T \DIP& 150

As%@

BEREE (B A )59v%—3v RC-40)

g.

/7/;:

H2
Hi

50

900

300

BWEL

ARk

I -
o

250

H3

H2

5 O% | g d H1 HZ2 H3
IERkET-1| 4150 | DIP 0.17 1.32 1.37 | 1.12
IEKRET-2| H75 HPPE 0.09 1.24 1.29 | 1.04




kKA T2 ¢ 75mm  (BHO. 28m3) B = i B
E i) HiAG <k Hifr| & & i H K
<tT> LEFTY4Y X1
HEHD A R
ik B 1 R SA T BH0.28m3, +-fib m3 1.85 | 1.50 X 1.00 X H1.24 = 1/4X0.09 X 0.09 X 7 X (1.00+1.20) 1.85 1.85
HEHD A SRR
B P AL T BH0.28m3,4 b, 40’ m3 1.55 |1.50 X 1.00 X H1.04 - 1/4X0.09X0.09 X 7 X(1.00+0.50) 1.55 1.55
<HHEET >
AshEAy4—
EEEG W T t=15cm%E T m 5.00 | (1.50 + 1.00 )X 2 5.00 5.00
ASEREERR P A% SR
BUELAGA T BHO0.28m3,t=10cmLL m2 1.50 [1.50 X 1.00 1.50 1.50
UNAR 2N TSR Bt
TREEET B EREA (RC-40),t=10cm m2 1.50 [1.50 X 1.00 1.50 1.50
UNAR 2N TSR Bt
L AR T bi A (RM-30),t=12cm m2 1.50 |1.50 X 1.00 1.50 1.50
N2 TSI Bt
GRS T T AR ET A2 t=3cm m2 1.50 [1.50 X 1.00 1.50 1.50
DT4t#%,BH0.28m3
R R +# 1.=6.8km m3 1.85 1.85 1.85 1.85
DT4t#%,BH0.28m3
A - E R TAT7 VM L=6.8km m3 0.08 1.50 X 0.05 0.08 0.08
Wy +w m3 1.85 1.85 1.85 1.85
m3 0.08 0.08 0.08
bRk = T AT 7Nk t 0.19 0.08 X 2.35 0.19 0.19




_|J27kj::|:_2 éﬁ % % e % L& %0
S
1kk+T-2 i
miiEAs B HEREL
a7 PB
FEE ! KB (BAESHEA)
1000 1000 / LB (BT R-30)
. AsEas / TRBHEE (4599457 RC-40)
| O— Nc_ %
HPPE ¢ 75 ]| =
\ 2 BHEt A2 =
o4 = o4
= = = - -
2 == z
% 1,: {} | F= oz | &3 | d H1 H2 H3
e ol kxktT-1|6150 [DIP [ 0.17 | 1.32 | 1.37 | 1.12
5 2 = WktT-2| 075 |HPPE | 0.09 | 1.24 | 1.20 | 1.04

HPPE ¢ 150 /




1EA+T-3 ¢ 100mm (BHO. 28m3) o &= i A
E i) HiAG <k Hifr| & & i H K
<tT> LEFTY4Y X2
HEHD A R
FEARAE HIFA T BHO0.28m3, --#) m3 1.34 | 1.00X1.00 X H0.68 = 1/4X0.13X0.13X 7 X 1.00 0.67 = 1.34
HEHD A SRR
B AR T BHO0.28m3,4 Ap, 70’ m3 0.94 [1.00X1.00 XHO0.48 = 1/4X0.13X0.13X 7 X 1.00 0.47 = 0.94
<HHEET >
AshEAy4—
EEEG W T t=15cm%E T m 8.00 [ (1.00 + 1.00 )X 2 4.00 = 8.00
ASEREERR P A% SR
BUELAGA T BHO0.28m3,t=10cmLL m2 2.00 [1.00 X 1.00 1.00 = 2.00
UNAR 2N TSR Bt
TREEET B EREA (RC-40),t=10cm m2 2.00 [1.00 X 1.00 1.00 = 2.00
UNAR 2N TSR Bt
L AR T bi A (RM-30),t=12cm m2 2.00 |1.00 X 1.00 1.00 = 2.00
N2 TSI Bt
AT T2 SR BET A2V t=3cm m2 2.00 [1.00 X 1.00 1.00 = 2.00
DT4t#%,BH0.28m3
FEAE L IER +4 1.-6.8km m3 1.34 0.67 0.67 = 1.34
DT4t#%,BH0.28m3
FEA TAT7 VM L=6.8km m3 0.10 1.00 0.05 0.05 = 0.10
Wy +w m3 1.34 0.67 0.67 = 1.34
m3 0.10 0.05 = 0.10
U AR ¢ TAT7 VbR t 0.24 0.05 2.35 0.12 = 0.24




1EA+T-3 u = i "o&E 1E6T 240

5] =
S
1FkK+T-3
iEAs
F EE
Br w1 X
1900 & Bl EREL
1000 B GERE M-30)
HPPE ¢ 100 Astiids TR (FEH5994-34 RC-40)
= /| 2
8 { 1 T Ler— T =2 f o
= i ! ] —-=g.L 2]
g g = wEEr | FXb = 2
Eistryy ¢ 40 5 = & 8
8 —p— | =




BEAKE ¢ 150




EAAKAE ¢ 150 ELASH1EH

X 1 1) 5 e imEe il
< ZAH -9 v A s EEREY =
4 R ViZZ NRRFA :fﬁsﬁﬂ ES L 1 [ et i Hﬁoﬂﬂoimsxwﬁ —
W le il 3 g p=y/) 7777
Dv—=p | El—=} GV PE150 1A 20 | Ab=hy | 150 150
HPPE ¢ 150
PE TXB
= AT EE ¢ 150 X5, 000 10101 A | 5.00 53 53 265. 00 53
PE TXB 23.88 | 0.38 e & &t
A (77 v=rzvh) ¢ 150 X5, 000 10101 A | 5.00 5 5 24. 26
EF TXB
AN ¢ 150 X 45° {I# 0. 46 7 7 3.22 14
EF TXB
LN ¢ 150%X22 1/2° @ | 0.38 4 4 1.52 8
EF TXB
AN 6 150X 11 1/4° 8 | 0.34 1 1 0.34 2
EF TXB
RN N ¢ 150 X 45° {i# 0. 62 1 1 0. 62 1
EF TXB
ATy 6 150X22 1/2° 8 | 0.53 1 1 0.53 1
EF TXB
LAy ¢ 150X 11 1/4° i 0.49 1 1 0. 49 1
EF TXB
AN ¢ 150 X 45° {I# 0.78 1 1 0.78
EF TXB 0. 40 1
sz F—R ¢ 150X ¢ 150 {1 0.50 1 1 0. 90 2
EF TXB
5% F— R ¢ 150X ¢ 100 0.50 1 1 0. 50 2
EF TXB
Wz F—x ¢ 150X ¢ 75 0. 50 1 1 0.50 2
EF TXB
Y7y ¢ 150 1 3 1 4 4
EF TXE
Z 07700 $ 150 JLE] 0.23 1 1 2 0. 46 2
SUS304 BN GFN vy TXB
7709 A ¢ 150 7.5K & 1 1 2 2
PEA TXE
M=y 7 ¢ 150 JIE] — 1 1 1
DIPH TXE
M=k 7 ¢ 150 1 — 1 1 1
75V ¢ 150 7.5K IES — 1 1




EAAKAE ¢ 150 ELASH1EH

B B 72
X i 31 45 R DR
4 R ViZZ NRRFA i HAL| & Y MGt % 0
- i L I - S —
EF150 | EF150 | PE150 | Ap=pw | 790y
DV} | Ep—} | | GV PE150 = 201 | Abzhy | 150 150
TXZ IHATS Y = X0.18X1.5=0.85m
EHRTT W=50cm 10303 m —  |[299. 12,75. 00 x 4 (i /4) X 0. 85= 203. 4
TXZ
HER Ry -] W=15cm 4 7" 10301 m 207, 74 1.01 208. 8
TXZ
nr=74v) 4% m 298. 11 1.01 299. 1
kD 299. 12 88 4 1 1 2




FLAKE ¢ 150 YIEHE

e Y Vi’ Vi’ Vi’ Vi’ Vi’ Vi’ Vi’ e Y PEt * /.
G s LU | oz | cwws | cwia | cwiws | cude | BIER P T
A\
1.21 0.99 0. 86 1.94 3.79 1. 21 3
A\ A\ A\
0.42 4,58 4,58 0.42 1
AN
0. 28 0.82 2.58 0.43 0. 89 4.72 0. 28 4
A\ A\ A\ A\
0. 62 2.94 0. 44 1. 00 4. 38 0.62 3
AN AN AN
0.29 2. 38 2.33 4. 71 0.29 2
A\ A\
2.92 0.52 1. 18 0. 38 2.08 2.92 3
AN AN AN
24. 26 5.74 16
PE 150 X 5. 00 5 K




Bl ¢ 150 AR T

g R AR~ AT H Y s
HPPE ¢ 150
K )V RAT T ¢ 150 m 299. 12 299. 1
EF
F sV BT T $150 10 M 88 88
EF
ISR 6150 201 =hi 4 4
FH=h ViR
K )xfV /T T ¢ 150 ] 1 1
Ph=hvEET T ¢ 150 =] 1 1
770 BT $ 150 7. 5K m) 2 2
DV}
750y TSN L T ¢ 150 A 1 1
B BERR
RS A% =R ¢ 150 ] 16 + 16
D=} El—h
BB B T é 150 =) 2 + 2 4
BRI W=50cm m 203. 40 203. 4
HERF RV - T W=15cm 4 7"V m 298. 75 298. 8
w740 VAT E T m 299. 12 209. 1




BEAKE ¢ 100




BoKAE 6 100 BREH1 5

] i 1 A BT QAR
N AR, WA % NS .
£ g AR~ ;,H;{ﬂﬁ]\\\ HAL| BR B $eaw i 57 D#
EF100 | EF100 | PE100 | Ah=hw | 77vv
FL— Y PE100 1 200 | A=y | 100 100
HPPE ¢ 100
PE TXB
= OAFEE $ 100X 5, 000 10101 A | 5.00
PE TXB 1.76 BE AR
EXAVAZEIN) $ 100X 5, 000 10101 A | 5.00 1 1 1.76
EF TXB
LAY ¢ 100X 45° {18 0.38 1 1 0.38 2
EF TXB 0. 40 1
% F— X ¢ 150 X ¢ 100 il | 0.50 0. 40
EF TXB
Vi b ¢ 100 J[ES] 2 2 2
PEH TXE
M=y 7 ¢ 100 J[ES] — 1 1 1
TXZ IEATY Y 7 X0.13X1.5=0.61lm
IR W=50cm 10303 m —  |l2. 54,75. 00 X 4 (f&F7/A) X 0. 61= 1.2
TXZ
MR RY =] W=15cm % 7"V 10301 m —  |l2.54 2.5
TXZ
wr=74v)" 94Y- m —  |l2.54 2.5
s 2.54 2 2 1




BoKAE ¢ 100 18T

oy > /oy P Yo, Yo, Yo, Por S, PE{:* < -
g% e gl | cwme | cwms | cwrs | wmE | ome T
A
1 3.24 0. 50 1.26 1.76 3.24 2
1.76 3.24 2
&t
PE 100X 5. 00 1A




BoKE ¢ 100

(0

4 G TER 1 Kb

HPPE ¢ 100

K ) =fv R T ¢ 100 2.54 2.5
EF

)RR L $100 10 2 9
EF

)RR L $ 100 20 2 9
PRk T

)RR L ¢ 100 1 1

g BERE

K )fvy A Gk T ¢ 100 2 9

ERT-7 T W=50cm 2. 54 2.5

HIER Ry -1 L W=15cm 47w 2. 54 2.5

nh—7 4V AT T 2.54 2.5




B
LKE ¢ 75




BoKE ¢ 75 ERAE A

(X B H BHRE O]
. et NUSTI e . =
4 i) TER :%—{ﬂﬁ]\v HAZL| B L e HEEt B % D# _
EF75 | EF75 | PE75 | th=pw | 750v
AL— R BL— 1 YL PE75 1A 20 | A=y |75 75
HPPE ¢ 75
PE TXB
Z OfHEE 6 75X 5, 000 10101 A | 5.00 17 34 51 255. 00 51
PE TXB 13. 00 18.37 OEAE
B (7 v=vz/)) ¢ 75X 5, 000 10101 N 5.00 8 8 31.37
EF TXB
A4 ¢ 75X 45° & 0.38 6 6 12 4.56 24
EF TXB
XYM ¢ 75%X22 1/2° {iE 0.28 8 8 2.24 16
EF TXB
XYM ¢ 75X 11 1/4° {iE 0.26 2 2 0. 52 4
EF TXB
AN ¢ 75X 45° & 0.48 2 2 4 1.92 4
EF TXB
A"y ¢ 75%X22 1/2° {iE 0.38 4 4 1.52 4
EF TXB 0.40 1
iz F—X $ 150X ¢ 75 @ | 0.50 0. 40
EF TXB
iz F—X ® 75X ¢ 50 @ | 0.10 1 1 0.10 2
EF TXB
V7w s ¢ 75 1# 2 1 3 3
EF TXE
ZAft7597 ¢ 75 {i# 0. 16 1 1 0.16 1 1
TXE
77" ¢ 75 7.5K {# 1 1 1
SUS304 BN GFn y¥v TXB
7170 A $75 7.5K {# 2 2
TXE
FH=hVPPY ™ a4V b ¢ 75 {i& — 1 1 2
PEH TXE
Fh=hvEyy 7 675 {i& — 1 1 1




BoKE ¢ 75 ERAE A

X 1 1 45 = TR 2R
pa R FEAR~HE HAL| B . HoEE % O
i eI [ i T __
EF75 | EF75 | PE75 | Ai=hv | 750¢
A/l/—}\lB/V—Fl | IIEoa e PE75 10 20 M= 75 75
TXZ IEATYS Y 7 X0.09X1.5=0.42m
EHRT-T W=50cm 10303 m 297.79,/5. 00 X 4 (f4 i/ A) X 0. 42= 100. 1
TXZ
R RY—] W=15cm 4 7" W 10301 m 101.26 | 195.51 296. 8
TXZ
o= 4 )" M= m 101.76 | 196.03 297.8
=t 297. 79 106 3 3 2




Bk ¢ 75 B HRE

e PEY]H
e covEl | cwrme | cwis | cwma | cwms | wER s o
A\
0. 87 0.51 1. 00 0.72 1. 30 4. 40 0. 60 5
A\ A\ A\ A\ A\
4,33 0. 47 4. 80 0. 20 2
AN AN
0.47 0.72 2.61 1.11 4.91 0.09 3
A\ A\ A\
1. 26 0.99 1.03 1.03 0.34 4. 65 0. 35 5
AN AN AN AN AN
4. 51 4. 51 0.49 1
A\
0.84 2.18 0.84 0.77 4. 63 0.37 4
AN AN AN AN
1.52 1.18 0.77 3. 47 1.53 3
/\ /\ A\
5.00
31. 37 8.63 23
PE 75X5.00 8 7K




BEAKE ¢ 75 gk L

pa R TR~k B

HPPE ¢ 75

&) xfV g R T ¢ 75 297.79 297.8
EF

&)V BT T 675 10 106 106
EF

A )xfV BT T 675 20 3 3
M=h VT

A )t BT T ¢ 75 3 3

757y kT T ¢ 75 7.5K 2 2

Bi—h1EsK
750 ERESN LT ¢ 75 1 1
e

IS4 = 5] ¢ 75 23 27

EHRT-7" T W=50cm 297.79 297.8

HERF Ry~ T W=15cm 4 7"V 296. 77 296. 8

o =74V )" VA= E T 297.79 297.8




B
LK% ¢ 50




Bo/KA ¢ 50 EREH1EH

(X B H TR 2R
. et NUSTI e . =
4 i) TER f_{aﬁ%v HAZL| B L e HEEt i % D# _
EF50 | EF50 | PE50 | b=t | 750v
C/b— ~G/L— F|H/V— R IV— |9 PE50 1A 20 A= 50 50
HPPE ¢ 50
PE TXB
Z OfHEE 6 505, 000 10101 A | 5.00 13 25 10 8 56 280. 00 56
PE TXB 5.58 |52.94 | 7.70 | 8.47 g At
B (7 v=vz/)) ¢ 50X 5, 000 10101 N 5.00 17 17 74. 69
EF TXB
A4 ¢ 50X 45° & 0.22 16 6 6 28 6.16 56
EF TXB
XYM $50%x22 1/2° {iE 0.18 2 2 1 5 0. 90 10
EF TXB
XYM $ 50X 11 1/4° {iE 0.18 1 2 3 0.54 6
EF TXB
AT /b ¢ 50X 45° & 0.27 14 2 4 20 5. 40 20
EF TXB 0.28 1 0. 28
lizF—X ® 75X ¢ 50 f& | 0.10
EF TXB 0.18 2 2 0.72
iz F—X ¢ 50X ¢ 50 @ | 0.07 4 4 0. 28 8
EF TXB
Vi s ¢ 50 {E] 3 1 1 5 5
EF TXE
ZAft75977 ¢ 50 {i# 0. 16 2 2 0.32 2
SUS304 BN GFA y¥v TXB
7170 A $50 7.5K & 2 2 2
PEH TXB
Ph=hvEy 7’ ¢ 50 1 1 1
P v v 7 ¢ 40 — 2 2
eI R K — 64 2 2 68




Bo/KA ¢ 50 EREH1EH

X i B A ERE O
pa R TR 1L HAL| B HoEE % M
i i AL S
EF50 | EF50 | PE50 | tp=pwv | 75v¢°
C/l/—}\lG/V—FlH/l/—}\lI/V—F Y& PE50 1A 20 A=y 50 50
TXZ AT D 7 X0.06X 1. 5=0.28m
EHRT-T W=50cm 10303 m 369. 29,/5. 00 X 4 (T4 /A) X 0. 28 = 82.7
TXZ
R RY—] W=15cm 4 7" W 10301 m 71.32| 185.96] 50.65| 59.86 367.8
TXZ
oh=5 40" 94— m 71.4| 186.56| 51.23 60. 1 369. 3
2t 369. 29 158 5 1 2




Bl ¢ 50 BIgHE

J J I p p p I > fiy PEG] 2 S
e s | o | cwms | oo | cwigs | wER s M
yAN

1 0.73 0.94 2.00 1. 00 4. 67 0.33 4
YAN YAN YAN YAN

2 0.91 3.00 0.52 4. 43 0.57 3
YAN YAN YAN

3 1.09 3.84 4. 93 0.07 2
YAN YAN

4 4. 10 0. 32 4. 42 0.58 2
YAN YAN

5 2.61 0. 95 0. 98 4. 54 0. 46 3
YAN YAN YAN

6 2.99 1.64 4. 63 0. 37 2
YAN YAN

7 3.78 0. 98 4. 76 0.24 2
YAN YAN

8 1. 17 3.00 4,17 0.83 2
YAN YAN

9 2.08 1.64 0. 88 4. 60 0. 40 3
YAN YAN YAN

10 1.34 2.28 1.02 4. 64 0. 36 3
YAN YAN YAN

11 2.47 2.18 4. 65 0. 35 2
YAN YAN

12 3.23 1.57 4. 80 0. 20 2
YAN YAN

13 3.28 0. 88 0. 34 4. 50 0.50 3
YAN YAN YAN




Bl ¢ 50 BIgHE

oy P’ P’ Yo, Yo, Yo, Por S, PE{:* . -
g% ol | cwrme | cwvEs | cwma | cwms | mER | T
A
14 1.30 0. 80 0. 80 1.09 0. 49 4,48 0.52 5
A A A A A
15 3.58 0. 49 4. 07 0.93 2
A A
16 3. 44 1.18 4,62 0.38 2
A A
17 1.78 1.78 3.22 1
A
74. 69 10. 31 28
&t
PE 50X 5. 00 17 K




BoAE 650 AR T

4 G IZ2 NRRIA BT H = &

HPPE ¢ 50

K )V R T ¢ 50 m 369. 29 369. 3
EF

K ) rfvo AR T 650 10 = 158 158
EF

B BT T $50 20 AT 5 5
PRk T

&) of VR T ¢ 50 = 1 1

uE BERRE

K v A Bl T ¢ 50 i 28+ 28

BWHRT-7 T W=50cm m 369. 29 369. 3

HIER Ry -1 L W=15cm 47w m 367. 79 367. 8

w740 VAT E T m 369. 29 369. 3

PR T ¢ 40 &Pt 2 2

LR MBS G B 68 68




PERE




HRRE  EEMH

] i 31| 40 R O 2R
4 7N ViZZ NRRFA HNL| B Bl s X FEFT T R % 0
PEVE-1| PEVE-2| HEJE-3| HEJe—4| HEIe-5| wriram VP®25 | PP 25 | VP40 | PP 40 | HI ¢ 25 | PE ¢ 25 |4 ¢ 25| HI 640 | PE ¢ 40 |70 ¢ 40
HIVP 2.40 1.95 2.45 | 6.80
[EXES ¢ 25X 4, 000 A 4. 00 4 2 6 22. 80
PE 1 fE2fE &
[EN ¢ 25 m 0. 45 0.1 0.1 0. 65 0. 65
TS
90° T /LR ® 25 i 3 3 3 9 18
TS
45° LR $ 25 18 1 1 2 4
TS
Vv b $ 25 & 5 5 10
HIVP
HITT AV aA b |¢25 1 1 1 1 3
PEfkF
T LR $ 25 & 2 2 4
PEAEF
BV ry b 625 L&l 1 1 2 2 2
PEfkF
kKR Y 7> b 025 J[E 1 1 1 3 3
R— L1k g $ 25 18 | 0.20 1 1 1 3 0. 60
SRR PEP M (PEfF—f&7i)
B RIS KR $ 50X ¢ 25 1 1 1 1
HIVP 3.55 1. 30 4. 85
X $ 40X 4, 000 4. 00 2 2 4.85
PE 1 fE2fE &
X $ 40X 4, 000 m 0.1 0.1 0.20 0. 20
TS
90° T /LR ¢ 40 & 3 3 6
TS
45° N R ¢ 40 0.16 1 1 0.16 2
HIVP
HITZF 2 a1 ]| ¢40 1 1 2
PEfkF
SribAke Y > B[ 640 1 1 1 2 2
PEAEF
BR[040 JLE] 1 1 1 1
R — L kK ¢ 40 {I& 0.25 1 1 2 0. 50
Fhiky PEPH (PEAF—{47)
H RVEFSy KRR ¢ 75X ¢ 40 JIE] 1 1 1




HRRE  EEMH

I3 ) A (e quEe ]
4 PR TR~k Hir| R Fic I [ e E &K % A
HEVR-1| PEVE-2| PEUE-3 | HEE-4| HEJE-5| wiram s VP®25 [ PP ¢ 25 | VP 640 | PP 40 | HT ¢ 25 | PE¢ 25 |47 ¢ 25( HI 6 40 | PE 640 |47 ¢ 40
1K » 7 2 & 1 1 1 1 1 5
L ) W=15cm 47 W m | — | 1855 | 361 | 225 | 125 | 2.4 28. 1
3 2280 | 1.25| 501 | 070 | 32| 10 2 8 4 1




HIVP ¢ 25 HI%5FH%E

A

CYVEL

ZOEe | o3 | o4 | US| BIER Py PELTHT
A
-1 -1 -1 -3 PE-3
1. 60 0. 30 0.50 1. 20 0.25 3.85 0.15 5
A A A A A
-3 -5 -5 PE-5
0.50 1. 60 0.50 0.35 2.95 1. 05 4
A A A A
6. 80 1. 20 9
HIVP 50X5.00




HIVP ¢ 40 HI5FH%E

A

» PEGINE|
covEa | cwEs | cwwe | cwEl | wuR s M
yAN
T T i
2. 60 0.50 0. 45 3.556 0. 45 3
YAN YAN YAN
) ) BEa
0. 30 0. 40 0. 60 1. 30 2.70 3
YAN YAN YAN
4. 85 3.15 6
/EI\§+ HIVP 50X5.00 N= 2 AN
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BE | ks | Gop | 2oz | | owi | ly |28 SRR iR FERE S [0 =0T i il I 5 7 m@“w IEIE
o . HPPE [BEES TaAERR | fKER | @150 6150 675 | 975 | 650 _ _ ] ] $ 20 ] $25 | ¢25 ] ] A posmiF 525 +TO | £T@ | £T0O® | £T®
620 | $25 | X X X X X | $20 ¢25| 20| ¢25| 20| ¢25| X | 620 | X X 25| 20 g25 | GTE ST | He0.6m | H=0.6m | H=0.6m | H=0.6m
620 | $25 | $20 | $25 | $20 613 613 | $20
1 0105619 675 613 613 620 , 0.80 1 3 2 1 1 1 0. 20
2 | 0105601 675 613 613 620 A 0.80 1 3 2 1 1 1 0. 20
3 ES Dk ¢ 75 ¢ 13 $ 20 $ 20 2.80 1 2 1 1 1 1 1 1.20 1.00
4 | 0105546 675 613 613 625 B 1 1.90 1 2 1 1 1 1 1 0. 60 0. 50
5 | 0105554 675 613 613 620 1.90 1 2 1 1 1 1 1 0. 20 1.00
6 | 0139041 675 613 613 620 A 6.10 1 3 2 1 1 1 -
7 ES Dk ¢ 75 $ 20 $ 20 $ 20 6.50 1 3 2 1 1 1 5. 90
8 | 0104931 675 620 620 620 2.70 1 3 2 1 1 1 2.10
9 | 0104957 675 613 613 620 3.00 1 3 2 1 1 1 2. 40
10 | 0104949 675 613 613 620 2 3.00 1 3 2 1 1 1 2. 40
11 | 0104965 675 613 613 620 2.10 1 3 2 1 1 1 1.50
12 | 0104981 675 613 613 620 2.10 1 3 2 1 1 1 1.50
13 | 0104990 675 613 613 620 2.80 1 3 2 1 1 1 2.20
14 | 0105121 675 613 613 620 2.80 1 3 2 1 1 1 -
15 | 0105091 675 613 613 620 5 . 3.70 1 2 1 1 1 1 1 2.00 1.00
16 ES Dk ¢ 75 ¢ 13 $ 20 $ 20 3.70 1 2 1 1 1 1 1 1. 60 1.00
17 | 0105104 675 613 613 620 2 2.20 1 3 2 1 1 1 1. 60
18 | 0105112 675 613 613 620 1 3.20 1 2 1 1 1 1 1 1. 60 0. 50
19 | 0105139 675 620 620 620 , 2.80 1 3 2 1 1 1 2.20
20 | 0105147 675 613 613 620 2.90 1 3 2 1 1 1 2.30
21 | 0145106 675 613 613 620 1 4.30 1 2 1 1 1 1 1 2.30 1.00
22 | 0105155 675 613 613 620 2 2.10 1 3 2 1 1 1 1.50
23 | 0105163 675 613 613 620 . 1.90 1 2 1 1 1 1 1 0. 30 1.00
24 | 0105082 ¢ 50 613 613 620 3.70 1 2 1 1 1 1 1 2.20 0. 50
25 | 0105007 ¢ 50 613 613 620 2 1.00 1 3 2 1 1 1 0. 40
26 | 0141305 ¢ 50 613 613 620 2.40 1 2 1 1 1 1 1 0. 40 1.00
27 ES Dk ¢ 50 ¢ 13 613 620 c 1 4.20 2 1 1 1 1 1 2.20 1.00
28 | 0105015 ¢ 50 613 613 620 1.70 1 2 1 1 1 1 1 0. 40 0. 50
29 ES Dk ¢ 50 ¢ 13 ¢ 13 $ 20 2 2.80 1 3 2 1 1 1 2.20
30 | 0105023 ¢ 50 620 620 620 1 3.80 1 2 1 1 1 1 1 2.20 1.00
86 675 613 613 620 A 2 0.80 1 3 2 1 1 1 0. 20
31 | 0105198 ¢ 150 620 620 620 5.30 1 2 1 1 1 1 1 3. 60 1.00
32 | 0105180 ¢ 150 620 620 620 1 5.30 1 2 1 1 1 1 1 - -
33 | 0105201 ¢ 150 613 613 620 4.10 1 2 1 1 1 1 1 3.00 0. 50
34 | 0105210 ¢ 150 613 613 620 2 1.20 1 3 2 1 1 1 0. 60
35 | 0105228 ¢ 150 613 613 620 1 2.00 1 2 1 1 1 1 1 0. 50 0. 50
36 | 0105236 ¢ 150 620 620 620 2 1.00 1 3 2 1 1 1 0. 40
37 | 0105244 ¢ 150 613 613 620 D 1 4.80 1 2 1 1 1 1 1 3.20 0. 50
38 | 0105252 ¢ 150 625 625 625 , 1.00 1 3 2 1 1 1 0. 40
39 | 0105261 ¢ 150 613 613 620 3.80 1 3 2 1 1 1 3.20
40 | 0105279 ¢ 150 613 613 620 1 5.10 1 2 1 1 1 1 1 3.30 1.00
41 | 0111082 ¢ 150 613 613 620 2 3.60 1 3 2 1 1 1 3.00
42 | 0153559 ¢ 150 613 613 620 1 4.30 1 2 1 1 1 1 1 3.00 0. 50
43 | o111015 ¢ 150 613 613 620 2 1.60 1 3 2 1 1 1 1.00
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o . HPPE [BEES TaAERR | fKER | @150 6150 675 | 975 | 650 _ _ ] ] $ 20 ] $25 | ¢25 ] ] A posmiF 525 +TO | £T@ | £T0O® | £T®
620 | $25 | X X X X X | $20 ¢25| 20| ¢25| 20| ¢25| X | 620 | X X 25| 20 g25 | GTE ST | He0.6m | H=0.6m | H=0.6m | H=0.6m
620 | $25 | $20 | $25 | $20 613 613 | $20

44 | 0111066 ¢ 150 613 613 620 2.50 1 2 1 1 1 1 1 1. 40 0. 50
45 | 0111058 ¢ 150 613 613 620 . 2.80 1 2 1 1 1 1 1 1.70 0. 50
46 | 0111040 ¢ 150 613 613 620 1.60 1 2 1 1 1 1 1 0. 30 0. 50
47 | 0111091 ¢ 150 613 613 620 1.60 1 2 1 1 1 1 1 0. 30 0. 50
48 | 0111023 ¢ 150 613 613 620 3.00 1 3 2 1 1 1 2. 40
49 | 0111007 ¢ 150 613 613 620 2 0.90 1 3 2 1 1 1 0. 30
50 | 0110990 ¢ 150 613 613 620 3.00 1 3 2 1 1 1 2. 40
51 ES Dk ¢ 150 ¢ 13 ¢ 13 $ 20 ) . 2.10 1 2 1 1 1 1 1 0. 30 1.00
52 S[F ¢ 150 613 613 620 4.30 1 2 1 1 1 1 1 3.00 0. 50
53 S[F ¢ 150 620 620 620 2 0.90 1 3 2 1 1 1 0. 30
54 | 0110914 ¢ 150 613 613 620 1.60 1 2 1 1 1 1 1 0. 30 0. 50
55 | 0110906 ¢ 150 613 613 620 3.60 1 2 1 1 1 1 1 2.30 0. 50

6 | 0110892 ¢ 150 613 613 620 3.70 1 2 1 1 1 1 1 2. 40 0. 50
57 | 0110884 ¢ 150 613 613 620 1 1.60 1 2 1 1 1 1 1 0. 30 0. 50
58 B Ek g ¢ 150 613 613 620 1.70 1 2 1 1 1 1 1 0. 30 0. 50
59 ES Dk ¢ 150 $ 20 $ 20 $25 4.40 1 2 1 1 1 1 1 2. 60 1.00
60 | 0108642 ¢ 50 613 613 620 4.80 1 2 1 1 1 1 1 3. 40 0. 50
61 | 0108472 ¢ 50 613 613 620 2 1.10 1 3 2 1 1 1 0. 50
62 | 0108481 ¢ 50 613 613 620 1 3.90 1 2 1 1 1 1 1 2.30 1.00
63 | 0108499 ¢ 50 613 613 620 2 1.90 1 3 2 1 1 1 1.30
64 | 0108502 ¢ 50 613 613 620 1 2.10 1 2 1 1 1 1 1 0. 10 1.00
65 | 0108511 ¢ 50 613 613 620 . , 2.00 1 3 2 1 1 1 1. 40
66 | 0108529 ¢ 50 613 613 620 0.70 1 3 2 1 1 1 0. 10
67 | 0108537 ¢ 50 613 613 620 1 3.40 1 2 1 1 1 1 1 1. 40 1.00
68 | 0108545 ¢ 50 613 613 620 2.10 1 3 2 1 1 1 1.50
69 | 0136531 ¢ 50 613 613 620 ) 0.70 1 3 2 1 1 1 0. 10
70 | 0108553 ¢ 50 613 613 620 0.70 1 3 2 1 1 1 0. 10
71 | 0108561 ¢ 50 613 613 620 2.00 1 3 2 1 1 1 1. 40
72 | 0108651 ¢ 50 613 613 620 2.60 1 2 1 1 1 1 1 1.20 0. 50
73 | 0108669 ¢ 50 613 613 620 2.10 1 2 1 1 1 1 1 0. 10 1.00
74 | 0108677 ¢ 50 613 613 620 1 3.50 1 2 1 1 1 1 1 1.50 1.00
75 | 0108685 ¢ 50 613 613 620 il 2.10 1 2 1 1 1 1 1 0. 10 1.00
76 | 0108693 ¢ 50 613 613 620 3.50 1 2 1 1 1 1 1 1.50 1.00
77 | 0108715 ¢ 50 613 613 620 2 0.80 1 3 2 1 1 1 0. 20
78 | 0108707 ¢ 50 613 613 620 . 3.50 1 2 1 1 1 1 1 1.50 1.00
79 | 0108634 ¢ 50 613 613 620 2.40 1 2 1 1 1 1 1 0. 40 1.00
80 | 0108626 ¢ 50 613 613 620 2 2.70 1 3 2 1 1 1 2.10
81 | 0108618 ¢ 50 613 613 620 1.80 1 2 1 1 1 1 1 0. 30 0. 50
82 | 0108600 ¢ 50 613 613 620 I . 4.10 1 2 1 1 1 1 1 2.10 1.00
83 | 0108596 ¢ 50 613 613 620 2.30 1 2 1 1 1 1 1 0. 30 1.00
84 | 0108588 ¢ 50 613 613 620 2.70 1 2 1 1 1 1 1 0.70 1.00
85 | 0108570 ¢ 50 613 613 620 2 2.20 1 3 2 1 1 1 1.60

223.30)  7.30 27 2| 23 1 32| 204 7| 121 4| 45 2| 73 10 1 1 1| 83 3 47 39| 119.00 3.00 13.50 19.00
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HHALE IH T =

At AL ()

% PR AR - ik =1 = HAL | %% i+ 5 s
[&21E 1R 1)
AShEhy 4 mE (NT))  wEE (A50.28)  1fiiE (A0 28)  TiTiE (H#H0. 13)
AL T t=15cm¥ T 88.74  + 9.15 + 4.51 + 0. 80 = 103. 20 m 103. 20 100. 0
BN AR R IRSA & (A7) i (A A7)
B IR A T BHO. 28m3, t=10cmlL F 70.16  + 5. 49 = 75.65 | m2 75. 65 76.0
PR AP R BERMIAGA i (A N) THiTE (%)
I BHO. 13m3, t=10cmPd T 4.57 + 1.36 = 5.93 | m2 5.93 6.0
HEHD A5 57 BHO. 28m3 miE (N F7) i (N F7) m2
AR FEHA T EECE 33.12 + 2.76 = 35. 88
35. 88 X 0. 02 = 0.72 | m3 0.72 1.0
HEH 25657 BHO. 13m3 miiE (A7) TIE (BA) m2
AR FEHA T EECE 1. 08 + 0. 60 = 1.68
1.68 X 0. 02 = 0.03 | m3 0.03 0.03
FABERIET A 22 (13) BHO. 28 BHO. 13
AT (B hElER t=bcm 70.16  + 1.36 = 71.52 m2 71.52 72.0
BAEBRIE T 2 22 (13) BHO. 28 BHO. 13
fEE T (A& t=5cm 5. 49 + 4.57 = 10.06 | m2 10. 06 10.0
+-#), BHO. 28m3
AT AL T DT4ti&EHE 1.=6. 8km 0.72 = 0.72 m3 0.72 1.0
+#%, BHO. 13m3
I DT2L3EH 1=6. S8km 0.03 = 0.03 | m3 0. 03 0.0
As, BHO. 28m3 m3
I DT4t3EHE L=6. 8km 35.88 X 0.03 +  39.77 X 0. 05 = 3.06 | m3 3.06 3.0
As, BHO. 13m3 m3
I DT2C3EH 1=6. S8km 1.68 X 0.03 + 4.25 X 0. 05 = 0.26 | m3 0.26 0.3
7 AVEE T +wb 0.72 + 0.03 = 0.75 m3 0.75 1.0
3.06 + 0.26 = 3.32 | m3 3.32 3.0
I As 3.32 2.35 7.80 t 7. 80 8.0




AREM (CEBRET— OTEMREKEMRELSE)

¥ RoAR T axgE | THREHE
EFS5858L5 KL 114 7K 4 (HPPER) ¢ 150 % ¢ 25 33,850 F0003
EFSEER S KL 153 K48 (HPPEFR) ¢ 150% ¢ 20 31,783 F0004
EFSEER S KL 153 K48 (HPPEF) ¢ 75% ¢ 25 25,213 F0005
EFSEER S KL 153 K48 (HPPEF) ¢75% ¢20 23,323 F0006
EFSEER S KL 153 K48 (HPPEFR) ¢ 50x ¢20 21,696 F0007
PEf#F 4r1EKEEBYA VR ¢ 25 3,326 F0008
PE#F KRV YE 20 2,473 F0009
PEME UK 25 6,026 F0012
PE#F ~UF 20 4,380 F0013
EfEE#HF PEXVP 25 2,870 F0O014
EREMF PEXVP $25% ¢ 20 2,900 F0015
EREE#HF PEXVP $20%x ¢ 13 2,700 F0016
EREE#HT PEXVP 20 2,100 F0017
EREE#HF PEXVP $20%x ¢ 13 2,200 F0018
1E7K#BOX ¢ 40 25,633 | F00211
1E7K#BOX ¢ 25F 12,436 F0021
Lo#i 60 | F00212
AT —T42T D14 — 295 F0025
KERABERVELLEZLERTF ISRDIAUh @25 4,720 F0029
EFS58K 804 K )L 1443 7K 4 (HPPERR) ¢ 50% 25 23,856 F0030
KERABERVELLEZLERTF ISRTaAUk ¢40 11,346 F0031
EFERER SR IL 1153 K48 (HPPEF) @75% ¢ 40 53,403 F0032
TeFRYI X H=470mm 62,176 F0037
HARRARYIR M35 165,890 | F00371
HARRARYIR Mf45 232,353 | F00372
EFZO7500 ¢ 150 49,820 F0038
IS5 A% SUS304 BN GF/SvFy ¢ 150 7.5K 3,986 F0039
Ah=hiL¥vv7 PER ¢ 150 52,313 F0040
Ah=H)ILF¥+vvy7 DIPH ¢ 150 54,363 F0041
Ah=HNFvyT PEA ¢ 100 32,673 F0042
EFZO7500 ¢75 7.5K 21,776 F0043
ISR SUS304 BN GF/RwFxy ¢75 15K 2,276 F0044
AHZHIPPTIA UL ®75 33,433 F0045
Ah=ANFvyT PEA @75 23,143 F0046
EFZOMI50Y $50 7.5K 13,403  F0047
ISUCHEEM ¢ 50 7.5K 2,483| F0048
Ah=h)IF¥v7 PEM ¢ 50 17,663| F0023
¥ rvT (Dkigxry) @40 3,006| F0049
EEIEER ML 27,550  F0050
PEMEF BRIMFEVTIE ¢ 25 3,120 F0051
PE#F HrIfFEVTVE ¢ 40 7,803 F00511
EF45° ARUR ¢ 150 22,040| F0052
PE#F KRV VE ¢ 40 8,500 F00521
THKE#R T DIPH ¢ 150 % ¢ 150 133,903| F0053
THIKERT PEA ¢ 150% ¢ 150 173,400 F0054
THIKE®RTI PEFR ¢ 150% ¢ 75 150,280 FO0055
TH/KERT PER ¢ 100 x ¢ 50 123,306 F0056
FEKiEUIFHRET DIPA ¢ 150 207,116 F0057
DIPF FWIKHATEE FHE ¢ 150 X ¢ 150 142,750|  F0058




AREM (BBRET— OTEH#MREKERRELSE)

&% TR g | oxpm | EHAME
PEF THIKTFE HUIHF FE ¢ 150 x ¢ 150 & 421,440  F0059
PEF THIKTFE LU+ FE ¢ 150% ¢ 75 & 293,420|  F0060
PER THIKTFE UIFf FE ¢ 100 % ¢ 50 & 95,910 F0061
DIPFH FBrK{ELIFH ¢ 150 1& 384,370| F0062
PEFELOfT ISV HTEE 32 75K ¢ 150% ¢ 75 & 151,610| FO0063
PERELOft IS5V HTFE B2 75K ¢p75% ¢ 75 & 66,740|  F0064
HFRXERATHE OGNS FCDE TRFIMASBLE |75 75k B = 225,976| F0066




